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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in that question,

The Index of Refraction depends on : : “W{J/ ijl ¥ u”g/./JTJEJH lﬁ}db’
¢ . 3 ot
(A) The Focal Length ¢ 747 (B) The Speed of Light ¢ .tr § G @)

(C) The Image Distance ¢ . £ & (D) The Object Distance ¢ JAGL(""

Mice can hear frequency upto : cpE gyt oM Uy <z (2
(A) 35000 Hz (B) 3500 Hz (C) 50,000 Hz (D) 1,00000 Hz

Calen La¥ o 1 b/ Vf vk b § b S B)

If the Mass of the Bob of a Pendulum is increased by a factor of 3, the period of the Pendulum'’s

-

motion will
(A) Be increased by a factor of 2 b’i..l.wz e (B) Remain the same ¢ g!;uﬁf)“/tj:(
(C) Be decreased by a factor of 2/ £ ilon ﬂ’ o (D) Be decreased by a factor of 4 fL(gn(’ U’jga

Coulomb's Law is valid for the Charges which are : : Do Usy L Zie S ¥ <4 @)
(A) Moving Point Charges ZJ&&'{Z—ML/’:’#(](B} Moving and Large Charges ?.Jk&'/’VC—ﬁ(LML/w
(C) Stationary and Point Charges sz&l{d( \-(D)Stationary and Large Size Charges Z/lp L Fle sl g

The presence of a Magnetic Field can be detected by a . : ‘acglg W ‘:_f z K d‘;ﬁr i i&’v@g' (5)
(A) Small Mass & J\L # (B) Stationary Positive Charge < Zy/gé-')gw( [
(C) Stationary Negative Charge & LJL,{‘P"GJ L (D) Magnetic Compass & di;.@..f-p
An FElectrie Current in Conductor is due to the flow of Do J Ll S0 A /"-C‘cf (6)
(A) Positive Ions #Tskiy (B) Negative Ions T zﬁ’g (C) Positive Charges Z/s4iy (D) Free Electrons S B0T
How many types of Charges are : Y rutd"f Zhei (7)
4 2 (B 3 (€ 4 D 5
MRI stands for : Ce i Y v  MRI! (8)

(A) Magnetic Resonance Imaging Kex ol u%:y..@:’ (B) Magnetic Resistance and Current 2%/ u""’uu@g‘
(C) Magnetic Resistance Imaginary (¢ JM’J%J\—@Q (D) None of these u..‘“ﬁfa,u:ul
D E N S § U Te e didive ] (9)

From which of the following we can get information almost about everything :

(A) Books (U (B) Teacher s (C) Computer },g:;( (D) Internet & ¥

In Computer Terminology, Information means : S bt b Gdent d (10)
(A) Any Data Q—,Su‘@f (B) Raw Data 37§ (C) Processed Data Ldwsy (D) Large Data KlnslJ

If X=A:B,then X =1 when : :ﬁ&{'rd,!'x';" X=A.B (11)
(A) A and B are'1' B=1,A=1 (B) AorBis'0' B=0L A= 0

(C) A is'0'and B is'1l' B=1 s A=0 (D) A is'l'and B is'0' B=0 . A=

w 7 13, .. 0.
In Nuclide 1(;3 X the number of Protons is : Do ol e 7}’{ v 6 X w,L,K (12)

A 3 (B 10 (€ 8 (D 6
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Note : It is compulsory to attempt (5-—5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from PartII. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. -u:’laf(f'kdn/"ul,‘z (Part |) Jslo
What is meant by Restoring Force ? : I ki W) 20

Find the Time Period of a Simple Pendulum 1.0 m long. -Z# Laft ¢ Al £ du 2 iy
¢ e 020 L S A4 S S & A iy

How does the thickness of a lens affect its Focal Length?

Define Power of a Lens. Write its unit. ..&‘30 L6 2l é.y/’ J sk J /.'.’ (iv)
What is meant by Near Sightedness? ?q_.:i/g @ lj}"...;; v)

it Harn ¥ &L OR i)
Draw the symbol ef OR - Gate and also write its Truth Table.
S OAYUE 23 Sit3JES 1 2 P8I Sk (i)
Differentiate between Analogue to Digital Convertor and Digital to Analogue Convertor.
Define Electronics. _.2.{4/‘7 J Jgf'gl (viii)
Define Pitch of Sound. S ES me w3
Sy bobe (B 1 MY S50 S ESL ()
How loudness of Sound depends upen~distance from Vibrating Object ?
How Paper Capacitor manufactured ? T (> 4 SrngaS” v (i)
S o £ S U1 e 100 E S S P e P 5 s )
gt i § Bl dtiin st g 2 eSS 50
The Capacitance of a Parallel Plate capacitor is 100 UF . If the Potential Difference between
its plates is 50 Volts, find the quantity of charge stored.on-each plate.
fe U Bl e KA U (“’J‘g.f v)

Why Optical Fibre is more useful tool for the Communication’Process ?

What is Electroscope ? e g .,,,C,;g; (vi)

What is Computer Hardware ? e Jn Y j:;b[,/‘_gy.,{ (vii)

Write down any two damages of Noise Pollution. -’4‘.’6 etld e 8 £ ST § 2 winy

Sy sz F gl S ¥ bl Tum e 8200 s I S0W tend S fEIET ) 4 )y
s 12 /-2

Calculate One Month cost of using 50 W Energy Saver for 8 Hours daily in your study

room. Assume that the price of a unit is Rs.12/-
,’é:u-'!tl" B8 ZES s £ HA 2 i)
Differentiate between Conductor and Insulator with examples.
State Joule's Law and write its Mathematical Form. -éﬁd Jadif'wl é.,y}&y)s' Z Jz (i)
Ll e § BB s wpieaidss £ U5 )

Draw the Maximum and Minimum Strength of Magnetic Field by Diagram.

Main Power is always supplied with A.C., why? 5":,:-3&5 Lol Uz §art e PT sheh (V)
Define Mutual Induction. -’ég..g,l/’ J wﬁ&lgﬁf (vi)
What is meant by Radioactive Tracer? tesirl o A2 L (vil)
Complete the Nuclear Reaction : _%{l)"r S ‘f":“j, e (i)
6’ i H + 2 H > + + energy
P.T.O
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{4) = 2+2 Explain two types of Mechanieal Waves, ool e (Vi g ;m)‘#c ) 50!

L‘}"'J{ & ’9’.{{&95 12eme ¢ 8em ié{ﬂ(ﬂﬁﬂu‘g/ 4 4cm JL;’J!&J"’(}-J:‘ ()
) :

-’éﬂ"ylﬂ: sl
An object 4 em high {s placed at a distance of 12 ¢m from a Convex Lens of

!

!

1

!
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Focal Length 8 em, Caleulate the position and size of the image. ';

@3 LSt L ol e I LT S e A8 St 250 (I 6 A0

|

What is meant by Electrostatic Induction? How can you charge a body by E

Electrostatic Induction? E

N ¢ 8 hebe WM N SN L 58 1 o bidbef LS H PN () %

6) -4 346 ms” LnSHsL |

A studgnt clapped 1;is hands near a cliff and heard the Echo after 5s. What is "

the distance of the Cliff from the student if the speed of the sound is taken E

as 346ms 12 i

@ vl INPGSL 88 £ s 360 ISy § Smgdyt S (D 7,?.):,«?}

What is Half Life of an Element ? Explain its measurement process with the ‘

help of Radium Decay Graph %’

ér}v&ﬁu;q‘;_u!cfuﬁ’{).gahf Wi Wrelblig s 291 500 MW o () i
)

1 250KV putd g gu) Ji
A Power Station generates 500 MW of Electrical Power/which is fed

to Transmission Line. What current would flow in the Transmission Line, if

the input voltage is 250kV ?
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will resuit in zero mark In that question.
Which is an example of Longitudnal Waves : s Jo g Jg:Jf;‘i’g’ ujf 14 )
(A) Sound Wave ¢;»3l- (B) Light Wave ¢ &/ (C) Radio Wave ¢s g4/ (D) Water Wave 43 2 (1)
D Ml ba ¥ S pun ) b sk O by Al @
The Mass of the bob of a Pendulum is increased by a factor of 3, the period of Pendulum Motion will :
(A) Be increased by a factor of 2 ¥Z lLo¥ 2 (B) Remain the Same b'a_‘{u..""u"/ Jf
(C) Be decreased by a factor of 2 lepf[ ¢” 2 (D) Be decreased by a factor of 4 Filn ff e
Which of the following is an example of Simple Harmonic Motion: : %—JJ!‘J)‘J&M&‘J{G——U:J}Z'/JJ 3)
(A) The Motion of Simple Pendulum =/7§Ais s (B) The Motion of Ceiling Fan =/2f &£l bay
(C) The spinning of Earth on its Axis ch’:/’Z /;féuf&y.‘.')
(D) A bouncing ball on the floor A;:” Jnaf‘/]ﬂ{u"}
: (}mﬂu_’i Wl £ uﬁgﬁz J (fu o U’J( e Slianr (@)
Which of the following Quantity is not changed during Refraction of Light :
(A) Its Direction MJU’I (B) Its Speed Jf;;"&ﬂ (C) Its Frequency g’k,f/‘fw (D) Its Wavelength A’%‘:Jw
The Electric Current in Conductor is due to'the flow of : D2 J L - }(Jf (5)
(A) Positive Ions *T4J} (B) Negative Ions )"’T,ézg (C) Positive Charge %Il (D) Free Electrons a0l
A Positive ‘Flectric Charge : ‘ i ZnyaJ}?l %3 K11 (6)
(A) Attract other Positive Charge q_t'fﬂ f'//('o;.‘.)&& .~ (B) Repel other positive charge q:.b'f (‘3; I Lo siile 1
(C) Attract Neutral Charge q..t‘/:f'y s (w('pdixi (D) Repels the Neutral Charge «- 74 8) s Zwtgdjri
D e et Eib g L6 L B0em oy g 20em RL Y o L M| (7)
A Converging Mirror with a Radius of 20 cm creates a real image. 30.cm from the mirror.
What is the object distance
(A) 5¢cm (B) 7+5 cm (C) 15cm (D) 20cm
Which statement is true about the Magnetic Poles : g P b of 3 L HayRaeLai (8)
(A) Unlike Poles repel uj‘Lf é} s 5/”4 ){.,J.C‘f (B) Like Poles Attract qL/u‘-”J’g_/,;.gﬂ;4.g
(C) Magnetic Poles do not affect eachother %)’Lnﬁ’)lﬂ;l{b/uug){u'f (22
(D) A single Magnetic Pole does not exist Ccﬁuﬁl}aml’;ldgv@?ﬂﬁ
Isotopes have : L E AT 9)
(A) Same number of Protons 9!’:44.& (B) Different number of Protons ﬁ){ﬂ
(C) Same number of Neutrons )25l (D)None of these et
1KB = moeecmesenn JPRpryg— R (1)
(A) (Bytes) U1 1032 (B) (Bytes) ¥4 1036 (C)(Bytes) U¥|1048 (D) (Bytes) %} 1024
Thermoionic Emission in Tungston Filament requires : : c;—du/”é—ﬁw’f‘bffff‘/; Ko K (11)
{A) 0.3V and 6A (B) 6 V and 0.3A (C)3V and 0.6 A (D) 3V and 3 A
The number of Isotopes of Hydrogen is : P& ! J tft-”’jf L Pk v (12)

(A) 1 (8 2 (© 3 (@O 4
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, QNo.3 and Q.No4 and attempt any 02)
questions from Part Il. Write same Questio~ Mwmber and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. -uffhu’:yndn/"ukg (Part 1) J’w
How Digital Electronic Devices works ? { (,58/(5’4 O ¥ u—()fbg’MS (i) 24
Write symbol and Truth Table of OR gate. ..u:’v Jf‘iﬁ/‘ s erte &7 i)
What is meant by Logic Functions or Logical Operations ? v.;.,yg’ = '/'?»{Tf.? gl /56_50 (iii)
Define Power of Lens and write its unit. -2:5’6 Ly E ’Z.-'._gj’ U( 24 J ﬂ (iv)

?q_ff(gi[ 8 4 ' u‘7l.'6t Ut & e (v)
How can the defects of Vision can be corrected by two ways?
L i 1S e e JERE i)
What is meant by Refractive Index of Material ? Write its formula.
et M & G L sl bt § o Al (vil)

How the Geophysicists learn about the Internal structure of the Earth?

Define Focal Length of the Mirror. -é...g/’ d/ i’@f:’ L 4 (viii)
What is meant by Word Processing? ?4‘-,"/&( & -@.’:{5» (i) 3,4
Differentiate between Primary and Secondary Memory . ?q.J/"g S SRS sl GAy (i)

& Yun Vs g o U UM P SEN-e JVG % 1.586c e Fib J 6/ S Dt (5%/ g Jé[}kf @ii)
(& 332 ms_ 1 J;.{chiv Z:J/ YUt 4}( 0

Flash of lightning is seen 1.5 seconds earlier tham-the thunder. How far away is the cloud
1

in which the flash has occured ? (Speed of Sound = 332ms Ny

What is meant by Audible Frequency Range? v.;_n/gfc, U‘k:f/ J 236 (iv)
Why Ultrasound is useful in Medical Field? ?q.ﬂo,s’ﬁu[ ,’ciwﬂl 4 1&; ‘ﬁ,‘y v)
What is the function of Electroscope? ?q_al’(b’sff -..,dcﬁ;g’ (vi)
Define Unit of Capacitance. -Z:uy}"" J <4 L u"f U‘.‘f {vii)

il AR g 'zjl,uz& sl 434 (viii
Draw the Eleciric Field Lines of Positive and Negative Charges.
n PHPH 250V SAL G st S e 5000 25 § AL L) 4y
The Resistance of an Electric Bulb is 5000 . Find the Power Consumed by the Bulb when a
Potential Difference of 250 V is applied across its ends. '
L Sb ¥ (l)’ysé_LJjg S emt § $F i)

Draw Schematic Diagram for measuring emf of the battery.

Write down any two characteristics of Beta Particles. -2,‘36 :«&ar" 2 5 éf J /%&lg (i)
Differentiate between Natural and Artificial Radioactivity. ?4"..0/' s[ o &é’: '{éz&"‘ﬁf wl J/f- (iv)
State Lenz's Law. ..2‘;;(;)9 ¥ A W
Wirite the factors affecting Induced emf. -’A‘dd'!fL.bLnJul}! ¢ AL kg1 i)
Define Fission Reaction and write down its equation. -2.46 :«bkxd’u’ (7)) 2?._9,1/7 L! cf’fld/u’s (vii)

Define Resistance and its S.L Unit. ﬁ ..i..gj/". J .'j,g-df.jl LJI 2 g"")/ (viif)

P.T.0
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18 = 2x9 pr,zfp,g (Part 1) (.2

@ e ud (S el § PR s £ prg (D) 5, it
Explain Refraction through Prism with the help of Diagram.
A 1M = 105 Blel 3 § it ety iprpds § 90 MHz Flghs FM o ()
) . 2 3x108 ms™ 1 4y gyt
What is the Wavelength of the Radio Waves Transmitted by an FM Station
at 90 MHz where 1M = 106 ; and speed of Radio Wave is 3 x108 ms’ 4
) et Ble Se ?uggfow&dﬁb?w’-*ﬁ!izl G () 640
What are the Risks of Information and Communication Technology ( ICT)?
Explain any three Risks.
sl Hopnl o L E1pd26L 150 em gy = 5UC ) qp = 10WC 2/l ()
) ) e e S Uid A
Two Point*Charges q; = 104C and q,; = 5 §HC are placed at a distance of
150 cm. What will be the/Coulomb's Force between them? Also find the
direction of the force. |
(@) 2 gy LS (f & argedl e W L () 7,4y
What is an Electric Motor ? Explain the working principle of D.C. Motor.
FRremre e/ fingat 1.5 A et il phie 10V AHPH SM LY L (D
©) e
By applying a Potential Difference of 10 V across a <onductor, a current of

1.5 A passes through it. How much energy would be obtained from the

current in 2 minutes ?




